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4a. Box A has a volume of 750cm?.
Estimate the volume of Box B.

4b. Box A has a volume of 2,400cm3.
Estimate the volume of Box B.

VE
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5a. Shape A has a volume of 14cm3. 5b. Shape A has a volume of 13cm3.
Estimate the volume of the other shapes. Estimate the volume of the other shape.
Which shape has the greatest volume? Which shape has the greatest volume?

A. B.

A B.
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6a. These objects are ordered by volume.
Complete the statement by estimating
the volume of the other objects.
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6b. These objects are ordered by volume.
Complete the statement by estimating
the volume of the other objects.
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4a. Stan is placing cereal boxes on the
shelves. Each box has a volume of
125¢cmd.

What is the maximum estimated volume
of boxes that can fit on the shelves?

4b. May is placing packs of juice in the
fridge. Each carton has a volume of
600cm?,

What is the maximum estimated volume
of orange juice that can fit in the fridge?
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5a. Tim is estimating the number of cubes
to make the next cuboid in the sequence.

A. B.

He estimates he will need approximately
Sp cubes. Is he correct? Explain why.

5b. Tilly is estimating the number of cubes
to make the next cuboid in the sequence.

A. B.

She estimates she will need more than
1;0 cubes. Is she correct? Explain why.
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éa. Sally has placed a pyramid inside the
cube below.

The volume of the cube is 2,500cm3. The
pyramid has the same base as the cube.
Estimate the volume of the pyramid and
explain your reasoning.
AL

6b. Jon has placed a cone inside the
cylinder below.

The volume of the cylinder is 2,000cm3.
The cone has the same base as the
cylinder. Estimate the volume of the cone

and explain your reasoning.
AL
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8a. Aliis estimating the number of cubes

to make the next shape in the sequence.

A. B.

He estimates he will need approximately
31 cubes. Is he correct? Explain why.

8b. Su is estimating the number of cubes
to make the next shape in the sequence.

A. B.

She estimates she will need more than 88
cubes. Is he correct? Explain why.
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9a. Benji has placed a cuboid inside the
cube below.

The volume of the cube is 4,400cm?.

The cuboid is the same height as the
cube. Estimate the volume of the cuboid
qnd explain your reasoning.

9b. Joe has placed a square-based
pyramid inside the cylinder below.

The volume of the cylinder is 2,700cm3.
The pyramid is the same height as the
cylinder. Estimate the volume of the
pyramld and explain your reasoning.
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1a. Box A has a volume of 900cm?. 1b. Box A has a volume of 800cm?.
Estimate the volume of Box B. Estimate the volume of Box B.
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2a. Shape A has a volume of 12cm3. 2b. Shape A has a volume of 6cm?.
Estimate the volume of the other shapes. | Estimate the volume of the other shapes.
Which shape has the greatest volume? Which shape has the greatest volume?
A. B. A B.
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3a. These objects are ordered by volume.
Complete the statement by estimating
the volume of the other objects.

3b. These objects are ordered by volume.
Complete the statement by estimating
the volume of the other objects.
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1a. Tom is placing boxes on the shelves.
Each box has a volume of 150cm?.
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What is the maximum estimated volume
of boxes that can fit on the shelves?

1b. Tara is placing pizza boxes in the
microwave. Each box has a volume of
200cm?,
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What is the maximum estimated volume
of boxes that can fit in the microwave?
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2a. Dan is estimating the number of cubes
to make the next cuboid in the sequence.

A. B.

He estimates he will need approximately
lp cubes. Is he correct? Explain why.

2b. Zac is estimating the number of cubes
to make the next model in the sequence.

A. B.

He estimates he will need approximately
2{1 cubes. Is he correct? Explain why.
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3a. Mel has placed a cube inside the
cuboid below.

The volume of the cuboid is 1,000cm?3.
The cube is the same height as the
cuboid. Estimate the volume of the cube
qnd explain your reasoning.

3b. Jess will place the cube below inside
a cuboid.

The volume of the cube is 750cm?3.

The cuboid is the same height as the
cube. Estimate the volume of the cuboid
apd explain your reasoning.




